
X[0] <= 0.5
mse = 0.982

samples = 26255
value = -0.003

X[19] <= 3.923
mse = 0.672

samples = 20591
value = 0.273

True X[16] <= 0.5
mse = 0.844

samples = 5664
value = -0.99

False

X[17] <= 0.5
mse = 0.663

samples = 20590
value = 0.272

mse = 0.0
samples = 1

value = 10.641

X[19] <= -0.409
mse = 0.163

samples = 1116
value = -0.105

X[19] <= 1.434
mse = 0.683

samples = 19474
value = 0.294

X[22] <= 0.5
mse = 0.158

samples = 576
value = -0.042

X[1] <= 0.5
mse = 0.159

samples = 540
value = -0.174

X[18] <= 0.5
mse = 0.156

samples = 439
value = -0.076

X[12] <= 0.5
mse = 0.148

samples = 137
value = 0.065

X[14] <= 0.5
mse = 0.15

samples = 230
value = -0.128

X[7] <= 0.5
mse = 0.157

samples = 209
value = -0.02

mse = 0.148
samples = 229
value = -0.132

mse = 0.0
samples = 1
value = 0.671

mse = 0.148
samples = 203
value = -0.01

mse = 0.329
samples = 6

value = -0.367

X[5] <= 0.5
mse = 0.139
samples = 97
value = 0.126

X[19] <= -1.52
mse = 0.141
samples = 40
value = -0.07

mse = 0.161
samples = 21
value = -0.056

mse = 0.124
samples = 76
value = 0.168

mse = 0.0
samples = 1

value = -1.154

mse = 0.126
samples = 39
value = -0.054

X[21] <= 1.405
mse = 0.107
samples = 25
value = -0.471

X[24] <= 0.5
mse = 0.158

samples = 515
value = -0.161

X[21] <= 0.404
mse = 0.078
samples = 22
value = -0.406

X[11] <= 0.5
mse = 0.045
samples = 3

value = -0.971

mse = 0.071
samples = 10
value = -0.541

mse = 0.064
samples = 12
value = -0.321

mse = 0.004
samples = 2

value = -0.853

mse = -0.0
samples = 1

value = -1.324

X[18] <= 0.5
mse = 0.156

samples = 332
value = -0.126

X[19] <= 2.018
mse = 0.155

samples = 183
value = -0.23

mse = 0.13
samples = 200
value = -0.169

mse = 0.189
samples = 132
value = -0.058

mse = 0.147
samples = 175
value = -0.209

mse = 0.115
samples = 8

value = -0.675

X[19] <= -0.08
mse = 0.653

samples = 18022
value = 0.316

X[21] <= 2.478
mse = 0.971

samples = 1452
value = 0.008

X[6] <= 0.5
mse = 0.556

samples = 10629
value = 0.361

X[1] <= 0.5
mse = 0.785

samples = 7393
value = 0.252

X[9] <= 0.5
mse = 0.421

samples = 10512
value = 0.356

X[16] <= 0.5
mse = 12.984
samples = 117
value = 0.838

mse = 0.36
samples = 8072
value = 0.378

mse = 0.612
samples = 2440
value = 0.283

mse = 0.177
samples = 111
value = 0.432

mse = 192.247
samples = 6
value = 8.463

X[29] <= 0.5
mse = 0.784

samples = 388
value = -0.051

X[16] <= 0.5
mse = 0.78

samples = 7005
value = 0.268

mse = 0.722
samples = 303
value = 0.024

mse = 0.915
samples = 85
value = -0.311

mse = 0.531
samples = 6711
value = 0.255

mse = 6.453
samples = 294
value = 0.564

X[32] <= 0.5
mse = 0.985

samples = 1299
value = 0.041

X[25] <= 0.5
mse = 0.754

samples = 153
value = -0.278

X[16] <= 0.5
mse = 1.068

samples = 909
value = 0.1

X[16] <= 0.5
mse = 0.763

samples = 390
value = -0.098

mse = 0.609
samples = 850
value = 0.052

mse = 7.529
samples = 59
value = 0.835

mse = 0.733
samples = 364
value = -0.057

mse = 0.816
samples = 26
value = -0.687

X[24] <= 0.5
mse = 0.77

samples = 117
value = -0.425

X[18] <= 0.5
mse = 0.452
samples = 36
value = 0.16

mse = 0.763
samples = 73
value = -0.586

mse = 0.651
samples = 44
value = -0.133

mse = 0.258
samples = 22
value = 0.371

mse = 0.562
samples = 14
value = -0.073

X[21] <= 1.169
mse = 0.634

samples = 4989
value = -1.037

X[19] <= -1.108
mse = 2.25

samples = 675
value = -0.648

X[17] <= 0.5
mse = 0.657

samples = 3831
value = -1.01

X[1] <= 0.5
mse = 0.548

samples = 1158
value = -1.125

X[5] <= 0.5
mse = 0.215

samples = 157
value = -0.791

X[19] <= 0.997
mse = 0.674

samples = 3674
value = -1.02

X[21] <= 0.746
mse = 0.142
samples = 63
value = -0.922

X[20] <= 0.5
mse = 0.246
samples = 94
value = -0.698

X[19] <= 0.476
mse = 0.128
samples = 51
value = -0.957

X[19] <= 0.91
mse = 0.178
samples = 12
value = -0.696

mse = 0.111
samples = 47
value = -0.927

mse = 0.186
samples = 4

value = -1.322

mse = 0.132
samples = 8

value = -0.516

mse = 0.013
samples = 4

value = -1.144

X[19] <= 1.086
mse = 0.216
samples = 83
value = -0.741

X[4] <= 0.5
mse = 0.357
samples = 11
value = -0.381

mse = 0.211
samples = 79
value = -0.767

mse = 0.076
samples = 4
value = -0.27

mse = 0.156
samples = 8

value = -0.554

mse = 0.463
samples = 3
value = 0.484

X[19] <= 0.244
mse = 0.612

samples = 3437
value = -1.03

X[19] <= 1.019
mse = 1.572

samples = 237
value = -0.868

X[14] <= 0.5
mse = 0.627

samples = 2366
value = -1.003

X[2] <= 0.5
mse = 0.571

samples = 1071
value = -1.09

mse = 0.637
samples = 2232
value = -0.991

mse = 0.442
samples = 134
value = -1.199

mse = 0.541
samples = 618
value = -1.147

mse = 0.6
samples = 453
value = -1.013

X[27] <= 0.5
mse = 4.211
samples = 21
value = -0.136

X[21] <= 1.169
mse = 1.258

samples = 216
value = -0.939

mse = 0.778
samples = 16
value = -0.731

mse = 10.376
samples = 5
value = 1.722

mse = 1.249
samples = 214
value = -0.957

mse = 0.425
samples = 2
value = 0.25

X[19] <= 3.321
mse = 0.183
samples = 87
value = -1.417

X[18] <= 0.5
mse = 0.568

samples = 1071
value = -1.103

X[29] <= 0.5
mse = 0.163
samples = 85
value = -1.436

X[20] <= 0.5
mse = 0.367
samples = 2

value = -0.621

X[19] <= 2.227
mse = 0.113
samples = 66
value = -1.486

X[9] <= 0.5
mse = 0.321
samples = 19
value = -1.222

mse = 0.142
samples = 47
value = -1.432

mse = 0.043
samples = 19
value = -1.585

mse = 0.311
samples = 16
value = -1.11

mse = 0.024
samples = 3

value = -1.754

mse = 0.0
samples = 1

value = -1.049

mse = -0.0
samples = 1
value = 0.235

X[2] <= 0.5
mse = 0.571

samples = 562
value = -1.052

X[13] <= 0.5
mse = 0.559

samples = 509
value = -1.157

X[19] <= 1.181
mse = 0.513

samples = 329
value = -1.104

X[14] <= 0.5
mse = 0.64

samples = 233
value = -0.983

mse = 0.072
samples = 5

value = -1.662

mse = 0.515
samples = 324
value = -1.094

mse = 0.562
samples = 196
value = -1.03

mse = 1.002
samples = 37
value = -0.707

X[5] <= 0.5
mse = 0.484

samples = 425
value = -1.191

X[21] <= 1.68
mse = 0.859
samples = 84
value = -1.01

mse = 0.303
samples = 165
value = -1.329

mse = 0.578
samples = 260
value = -1.105

mse = 0.227
samples = 39
value = -1.278

mse = 1.358
samples = 45
value = -0.736

X[19] <= -1.129
mse = 5.332
samples = 49
value = -0.137

X[21] <= 1.14
mse = 1.956

samples = 626
value = -0.692

X[21] <= -1.255
mse = 2.495
samples = 47
value = -0.495

X[21] <= -1.122
mse = 5.708
samples = 2
value = 7.379

X[21] <= -1.481
mse = 0.87

samples = 26
value = -1.053

X[1] <= 0.5
mse = 3.753
samples = 21
value = 0.326

X[19] <= -1.502
mse = 0.695
samples = 3
value = 0.083

X[31] <= 0.5
mse = 0.655
samples = 23
value = -1.238

mse = 0.0
samples = 1

value = -1.226

mse = 0.014
samples = 2
value = 0.606

mse = 0.262
samples = 20
value = -1.352

mse = 2.797
samples = 3

value = -0.377

X[21] <= -1.148
mse = 9.969
samples = 2
value = 3.203

X[9] <= 0.5
mse = 2.272
samples = 19
value = 0.047

mse = 0.0
samples = 1
value = 5.435

mse = -0.0
samples = 1

value = -1.262

mse = 2.576
samples = 8
value = 0.814

mse = 1.322
samples = 11
value = -0.506

mse = 0.0
samples = 1

value = 11.518

mse = -0.0
samples = 1
value = 6.0

X[21] <= 0.724
mse = 1.512

samples = 433
value = -0.796

X[19] <= 1.69
mse = 2.873

samples = 193
value = -0.459

X[21] <= 0.715
mse = 1.717

samples = 337
value = -0.729

X[5] <= 0.5
mse = 0.674
samples = 96
value = -1.046

X[2] <= 0.5
mse = 1.504

samples = 334
value = -0.758

X[5] <= 0.5
mse = 14.578
samples = 3
value = 2.458

mse = 2.102
samples = 166
value = -0.587

mse = 0.885
samples = 168
value = -0.92

mse = 0.144
samples = 2

value = -0.651

mse = 0.0
samples = 1
value = 7.12

X[21] <= 0.741
mse = 0.739
samples = 32
value = -0.775

X[15] <= 0.5
mse = 0.584
samples = 64
value = -1.184

mse = 0.004
samples = 4

value = -1.755

mse = 0.691
samples = 28
value = -0.641

mse = 0.39
samples = 58
value = -1.243

mse = 1.994
samples = 6

value = -0.668

X[18] <= 0.5
mse = 3.812
samples = 96
value = -0.105

X[3] <= 0.5
mse = 1.796
samples = 97
value = -0.783

X[4] <= 0.5
mse = 5.216
samples = 49
value = 0.37

X[10] <= 0.5
mse = 1.777
samples = 47
value = -0.621

mse = 3.315
samples = 42
value = 0.013

mse = 11.256
samples = 7
value = 2.516

mse = 3.703
samples = 15
value = 0.218

mse = 0.637
samples = 32
value = -0.95

X[12] <= 0.5
mse = 1.018
samples = 58
value = -0.997

X[25] <= 0.5
mse = 2.7

samples = 39
value = -0.494

mse = 1.416
samples = 36
value = -0.741

mse = 0.164
samples = 22
value = -1.386

mse = 1.527
samples = 28
value = -0.832

mse = 4.784
samples = 11
value = 0.464


